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FOREWORD

Uganda National Examinations Board is mandated to conduct
summative examinations at Primary (PLE), Lower Secondary (UCE)
and Upper Secondary (UACE) levels. During the 2023 PLE marking
process, examiners compiled subject reports on questions which were
challenging to most candidates, weaknesses shown in candidates’
responses and advice to teachers on how to guide learners in the
subsequent years.

The general performance for 2023 PLE indicated that Integrated
Science was performed best, followed by English, then Social Studies
with Religious Education, and Mathematics respectively. The same
report provides statistics on the performance of candidates disaggregated by districts and by gender,
divisions obtained by candidates, and percentage in each division. It also includes sample work of good,
average and weak candidates in Mathematics, Social Studies with Religious Education, Integrated
Science and English.

This report is expected to help subject teachers and other key stakeholders to have a deeper analysis
of the topical areas in the curriculum where candidates did not perform well. Subject teachers are
encouraged to go through this report alongside the question papers and the Primary School Curriculum
so as to identify the content areas where learners experienced difficulties. All District/Municipal
Education Officers (DEOs/MEQs), District/Municipal Inspector of Schools (DISs/MISs), City Education
Officers (CEOs), City and Division Inspector of Schools, Education Development Partners and Heads
of Schools are encouraged to support the teachers to implement the proposed recommendations for
continuous school improvement. Head teachers and proprietors of private schools are encouraged to
ensure that the subject teachers get this report as soon as possible. Coordinating Centre Tutors (CCTs)
are advised to organise continuous professional development (CPDs) programmes on some of the gaps
identified for the benefit of the learners.

It is my hope that you find this document useful.

Da dongo
EXECUTIVE DIRECTOR
Uganda National Examinations Board.
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1.0 SAMPLING DESIGN AND SUMMARY OF FINDINGS

In addition to the scripts sampled and used by the senior examiners in generating draft report on
the work of candidates during the marking exercise, the script analysis sampling frame consisted of
registration data for the 2023 PLE candidates. It had 14,141 PLE Centres and 176 districts (including
Cities and Municipalities). For each paper, scripts of 1000 candidates were randomly sampled
through a stratified one stage random sampling technique. That is, stratified by district, probability
proportional to PLE enrolment size was used to sample a proportional number of candidates (scripts)
from each district.

The final list of sampled candidates showed the: District code, District name, Centre number,
Centre name, Funding status (UPE/Non-UPE) and Index number of the candidate. The list was shared
with the ICT Department of UNEB that was able to transform the Centre number and name into
Random and Personal number (anonymous). This was done for security purpose as well as ease of
script identification from the marking centres since the scripts did not bear any District name and
Centre number or name.

Key findings

Key findings from the analysis of 2023 PLE Mathematics, Social Studies and Religious Education,
Integrated Science and English revealed the following:

For the 2023 PLE Mathematics paper, 67.9% of the candidate failed to find the value of the
numbers given in power form in question 7 and only 28% of the candidates were able to evaluate 90.
In question 30(a), 72 percent of the candidates failed to apply the idea of proportions to find the number
of days two workers take to dig a piece of land together. Additionally, majority of the candidates (62.7%)
failed to follow the rule of BODMAS in simplifying the given fraction in question 21(a).

In Social Studies and Religious Education, 70 percent of the candidates gave the disadvantages of
high population in question 16 in general but not how it may negatively affect the provision of social
services. More than three quarters of the candidates (76.5%) did not understand the difference between
landslides and soil erosion. 60 percent of the candidates named national symbols of Uganda instead of
the symbols of authority used by the Speaker of Parliament of Uganda in question 42 (a) and 15 percent
of the candidates did not attempt the question.

In the Integrated Science question number 6, 60 percent of the candidates failed to identify the
activities carried out in a crush. More than three quarters of the candidates (77%) failed to draw
similarities between animals and fungi in the way they feed. In question number 42(b), more than half of
the candidates (59%) lacked sufficient knowledge on diseases of goats and their control measures and
11 percent of the candidates did not answer the question. For the case of question 44 (d), 81 percent of
the candidates lacked knowledge on propagation of Irish potatoes and 15 percent of the candidates did
not answer the question.
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Considering the English subject, more than three quarters of the candidates (76.4%) constructed
clumsy sentences most especially in gn. 32. Similarly, 81 percent of the candidates’ misused articles
in their responses in gn.35. It was also noted that 88 percent of candidates left out key words in their
responses in gn. 36. Additionally, 72 percent and three quarters of the candidates omitted the key words
for gn. 39 and gn.41 respectively. Further analysis indicated that 85 percent, 75 percent, 85.3 percent
of the candidates did not follow the instructions given in brackets for gns. 45, 46 and 47 respectively.
Furthermore, 62 percent of the candidates wrote informal letters instead of a formal one in question 55
while others wrote their letters without following the chronological order.

2.0 REPORT ON WORK OF CANDIDATES

This section presents candidates’ work for the selected subject questions from Mathematics, Science,
Social Studies and English accompanied with the suggested advice to the teacherS.

2.1 Report on Candidates’ Work in Mathematics

WEAKNESSES OF
(0] WHAT WAS REQUIRED CANDIDATES ADVICE TO TEACHERS
5. | Tofind the day of the week | & 85% of the candidates | = Help learners understand that
on which a training for failed this question the concept of finite is similar to
scouts ended given that because they did not that of number bases. It uses the
the training started on a include the starting day concept of remainders.
Wednesday and took 30 (Wednesday) in their ) )
days. calculation/counting. " Emphasae that when dealing
with days of the week, we use
= Most teaching finite 7and months of the year, we
seemingly emphasizes use finite 12. In the finite system,
“after” say 30 days the digits used are the possible
where the starting day remainders for that finite e.g. in
is not included. finite 7 we use digits 0,1,2,3,4,5,6.

= While applying finite systemin
this question, help learners to
understand that the starting
day is inclusive of the 30 days.
Therefore, the following approach
is followed.

The days of the week shall be

represented as;
M|T|W|Th| F|s|su
1/2]3]/4|5|6]0

Wednesday is represented by 3.
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QN WHAT WAS REQUIRED

WEAKNESSES OF
CANDIDATES

ADVICE TO TEACHERS

Therefore,

3+(30-1)=...(fin7)
3+29 =...(fin7)
32 =...(fin7)
32+7 =4 remainder 4

Hence, 4 represents Thursday
(the ending day).

Emphasise that when after is
used, the starting day is excluded.

Give learners adequate practice
in application of finite systemin
daily life.

7. | To find the value of
42 + 32 x 90

= About two thirds of the

candidates (67.9%)
failed to find the value
of the numbers given
in power form. This
made them fail to find
the value of the given
number operation.

Majority of the
candidates had
challenge in finding the
value of 9°. This made
them obtain wrong
result.

Introduce the concept of powers
(indices) using simple language.
Thus; it is a way of showing

how many times a number is
multiplied by itself.

[llustrate that a number in index
notation is shown as 42.

The 4 is referred to as the

base and 2 as the power or
index. Therefore, 4> means 4 is
multiplied by itself two times i.e.
2=4x4

Also 24 means 2 is multiplied by
itself 4 times. Therefore, 42 =2 x
2x2x%x2

= Introduce the concept of power

zero using the idea of patterns as
follows:

24 =2x2x2x%x2

23 =2x2x2
22 =2x2
2t =2

20 =1
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WEAKNESSES OF
QN WHAT WAS REQUIRED CANDIDATES ADVICE TO TEACHERS

Note that each time you decrease
the power one time, the result is
halved.

Therefore, the rule that a non-
zero number raised to power zero

isequalto 1.
thus: 3°=1
9°=1

= Help learners grasp the concept
of indices by braking such mixed
operations into manageable
parts. Learners should first find
the value of each expression then
find the value of the operation.

= Engage learners in activities
that can help them master these
concepts.

= Give learners adequate practice
in problems involving indices.

8. | Tofind at what time a = 65% of the candidates = Using a clock face, help learners
meeting that took 2 hours failed to find the time understand how to subtract time
and 15 minutes began the meeting started. (moving backwards).

iven that it t1:2 They failed t tract
given thatit ended at 1:20 ey @l ed OS.Ub rac = Guide learners that for 12-hour
p.m. the given duration from

clock system, it is advisable

to first subtract time within

the same units (a.m. or p.m.)
especially where it crosses from
a.m. to p.m. or vice versa. In this
case,

the ending time in order
to get the starting time.

= Some of the candidates
gave wrong unit of
the time the meeting
ended. 12:00
-215
9:45

Then add the 1Ihour and 20
minutes after the noon time to

find the starting time.
9:45 +1:20 =11:05 am
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QN WHAT WAS REQUIRED

WEAKNESSES OF
CANDIDATES

ADVICE TO TEACHERS

Therefore, the meeting ended
at11:05am

= You may also guide learners to

use the 24-hour clock system by
first converting the ending time
to 24 hours .i.e.

1:20pm +12:00 =13 20 hours.
Then subtract the given duration
fromit.
13 20 hours
-215

11 05
Therefore, the ending time is
11:05 a.m.

Emphasise that in 12-hour clock,
time from after midnight up to
12 00 midday use a.m. while that
from after midday to midnight
use p.m.

= Give learners’ adequate practice

on finding duration and also using
duration to find starting or ending
time of activities.

9. | To write the solution set
for the inequality p<3.

59% of the candidates
failed to write the solution
set for the inequality since
they could not interpret
the inequality symbol that

was used in the task given.

= Help learners understand the

difference between an equation
and inequality i.e. ‘an equation
is a mathematical statement
which shows that two quantities
are equal. It is shown using an
equal sign while inequalities
show relationships between two
quantities that are not equal.

= Remind learners about the

inequality signs used and their
meaning:

- <means less than

- >means greater than

- < means less than or equal to.

- t% means greater than or equal
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N

WHAT WAS REQUIRED

WEAKNESSES OF
CANDIDATES

ADVICE TO TEACHERS

Clearly explain to learners that

a solution set is usually a set of
whole numbers that makes an

inequality true.

Guide them in writing solution
sets. Begin with simple cases
and progress to compound ones.
For example, the solution set for
x<3

{..0,1,2}

Emphasise how finite and infinite
solutions are written.

10.

To find the next number in
the sequence:

1,8,27,64, ...

= 58% of the candidates

failed to find the next
number in the given
sequence. They had
difficulty in identifying
the type of numbers
that formed the
sequence.

Using practical methods such

as building blocks, help learners
understand the types of numbers
e.g. even, odd, prime, triangular,
cube, square and composite
numbers.

Guide learners into forming
number patterns using the types
of numbers they have learnt.

Give them adequate practice in
forming number patterns and
finding missing numbersin a
given number pattern.
Introduce games, puzzles and

quizzes as a way of consolidating
this concept.

12.

= To use the given graph
below in order to find
the total cost of
2 mangoes and

3 oranges.
2500 =
2,000 §’ S
Costin 1,500 QEE!
shllllngs1‘000 S
500
0 1 2 3 4 5 6

Number of mangoes and oranges

Results of analysis
indicated that more
than half (58.1%) of

the candidates were
unable to interpret the
line graph. They were
therefore unable to read
the cost of 2 mangoes
and 3 oranges from the

graph.

Explain clearly to learners that a
line graph is used to show how
one variable changes over time.

Explain the key components of
aline graph i.e. the horizontal
axis, vertical axis and what they
represent and the scale of the
graph.

Help learners to interpret scales

of different line graphs and the
units used in the scales.
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QN WHAT WAS REQUIRED

12.

WEAKNESSES OF
CANDIDATES

ADVICE TO TEACHERS

= Guide learners in reading/

interpreting line graphs. Start
with simple questions and
progressively move to complex
ideas. For example, in this case;

- What is the cost of 1 mango?
- What is the cost of 1 orange?

- How many oranges can be
bought with Sh 2,0007?

Emphasize that the quantity on
the horizontal axis that gives
the cost on the vertical axis

in the case of the given graph

is determined at the point of
convergence on the line.

Give learners adequate practice
on interpretation of line graphs
and other graphs.

13. | = Tofind the digit

by 9.

represented by t which
makes the three-digit
number 78t divisible

= Most of the sampled
candidates (62%)
lacked understanding
of the rule for divisibility
test by 9 which made
them fail to find the
value of the digit
represented by t to
make 78t divisible by 9.

Help learners understand that
divisibility tests are quick means
of knowing whether a number
can be divided by another smaller
numbers such as 2,3,4,5,6 etc.

Explain to learners that a number
is divisible by 9 only if the sum

of its digit is a multiple of 9 (or is
divisible by 9).

Guide learners also to master the
multiplication table of 9 as a way
of helping them understand the
multiples of 9i.e.:

9,18,27,36, 45 ....

Using a variety of examples, show
how the rule for divisibility by 9

is applied. For example; Which

of the following numbers are
divisible by 97

75 and 504

75=7+5=12
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WEAKNESSES OF
QN WHAT WAS REQUIRED CANDIDATES ADVICE TO TEACHERS

Since 12 is not a multiple of 9,
the number 75 is not divisible
by 9.

- 504ie.5+0+4=9

Since 9 is a multiple of 9
(9+9=1),then 504 is divisible
by S.

= Inthe case of the given question,
guide learners to find the value of
t as follows:

- Find the sum of the digits in 78t
ie.7+8 + t=15+t

- Now look for a number when
added to 15 gives a multiple
of 9.

Note: 15 is bigger than the first
multiple of 9, equate the sum to
the next multiple of 9 which is 18,
therefore,

15+t=18
15-15+t=18-15
t=3
Therefore, the number is 783.

= Reinforce learning by applying
the rule to both small and large
numbers.

= Engage learners in games
quizzes and puzzles that involve
divisibility tests.

19. | To find the length of a = Two thirds of the = Help learners understand
minute hand of a clock candidates (66%) failed the relationship among
given that in one hour it to relate the minute circumference, radius and
covers a distance of 88cm. hand to radius and diameter in real life. Encourage
(candidates are required to the distance covered learners to draw circles on the
use 7'c=£) to circumference. ground using strings or their foot

7 Therefore, they failed to to help them understand the
calculate the length of relationship better.

the minute hand.
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QN WHAT WAS REQUIRED

WEAKNESSES OF
CANDIDATES

ADVICE TO TEACHERS

= Using clock face, demonstrate

the movement of the minute hand

and associate this to parts of a

circle learnt i.e.

- the minute hand represents
the radius.

- the distance covered
represents the circumference.

= Using the idea that ¢ = 2mr

since the minute hand makes one
complete turnin one hour, this
is equal to the circumference =
88cm, the length of the minute
hand represents the radius r

fromec =2nr
88=2><£Xr
7
7x88=44 x7
7
7 x 88 =44r

7x8 _ 44r
44 44

r =14 cm

= Teach the concept of

circumference in real life so that
learners can relate it in their
environment.

20. | To compare the
performance of a pupil in
two tests of mathematics
given that the pupil scored
20in the first term test and
25

18 inthe second term test.
20

A big proportion of the
candidates (63%) had
difficulty in comparing
fractions with different

denominators. Therefore,

they failed to determine
in which test the pupil
performed better.

s Help learners to understand that

in order to compare fractions with
different denominators (names),
we need to rename them i.e.
make them have the same
denominators then consider their
numerators.

(This is a process of finding
equivalent fractions).
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WEAKNESSES OF
QN WHAT WAS REQUIRED CANDIDATES ADVICE TO TEACHERS

= For example, when comparing,

% and % Rename the fractions

by making their denominators

the same .i.e.
2_4_6_8
5 10 15 20

4 8 12 16 20

Therefore, the fraction 2 is

. 1
bigger than —
g8 4

= Guide learners in the same way
to find which of the scores given
in fraction was bigger, or .i.e.

2040 60 80 100
= Emphasize thatin order to

determine which of the two
fractions bigger, look at the
value of their numerators after
renaming them (equivalent
fractions). The one with larger
value is bigger. Therefore;

80 90

100 < 100

= Learners may also be guided to
use the lowest common multiple
(LCM) to change to equivalent
fractions.

= Give learners adequate activities
involving comparing fractions.

21 | To simplify fractions in = Majority of the = Help learners understand that
(a) | mixed operation: candidates (62.7%) where more than two operations
1_1.4 failed to follow the are involved, the rule of BODMAS
2 4 5 rule of BODMAS or DMAS must be applied.
in simplifying the
fractions.
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QN WHAT WAS REQUIRED

WEAKNESSES OF
CANDIDATES

They wrongly rearranged
the given fractions
which made them
obtain wrong result.

ADVICE TO TEACHERS

= Inthe case of the given task,
the operation of division needs
to be carried out before that of
subtraction.

ot )

= Give learners adequate practice
in simplifying fractions/numbers
involving mixed operations.

= Emphasize that altering the
order can lead to incorrect
solution.

24 | To find the largest number
(a) | of pupils that can be
formed in Primary Five, Six
and Seven given that equal
number of pupils were to
be formed in each class
and the number of pupils
in each class is:
P5=126,P6 =90

and P7 =72.

= More than two

thirds of the candidates
(68.5%) had difficulty

in interpreting what the
question required. Some
of the candidates simply
multiplied the number of
pupils in each class to find
the number of pupils in
each group.

= Help learners understand that
the principle of grouping in equal
numbers uses the idea of greatest
common factor (GCF).

= Guide learners to understand
how greatest common factor
(GCF) is got and how it can be
used in daily life. For example,
if a parent has 8 apples and 12
oranges to be shared equally,
the parent may choose to give
it equally for 2 people. However,
the largest number of people that
can share the apples and oranges
equally can be got as follows;

2|18 |12
214 |6
2| 3
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QN

WHAT WAS REQUIRED

WEAKNESSES OF
CANDIDATES

ADVICE TO TEACHERS

The greatest common divider
(GCF)=2x2=4

Using the similar approach,
help learners understand that
the largest equal number of
pupils that can be formed can
be worked out using the GCF
(greatest divider) as follows:

2 | 126 | 90 72

63 45 | 36
21 15 12
7 5 4

The largest number of pupils in
eachgroup=2x3x3
=18

Give learners variety of such
applications on GCF and LCM

24
(b)

To find the number of
groups that was formed in
Primary Five.

Since this is a follow up to
question to Q24(a), more
than half of the candidates
(58.5%) failed to find the
number of groups that
was formed in Primary
five because they did not
find the largest number of
pupils in each group.

Furthermore, almost a
third of the candidates
(31.7%) did not attempt
the question.

Guide learners to understand that
the number of groups that can be
formed in each class is then got
by dividing the number of pupils in
each class by the equal number of
pupils in each group i.e. in primary
five there willbe 126 + 18 = 7 groups.
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QN WHAT WAS REQUIRED

25 | To study the given diagram
where line AB is parallel to
line CD and use it to find
the size of the mentioned
angles:

A B

70°

p

C D

Find the size of;

(a) angle p
(b) angle k

WEAKNESSES OF

CANDIDATES
About 6in 10 of the
candidates (62%) failed to
find the value of angle p.
They had difficulty in
identifying the types of
angles formed on parallel
lines and applying their
properties to find the size
of the unknown angles.

ADVICE TO TEACHERS

= Remind learners about parallel

lines and their properties.

Introduce learners to the types
of angles that are formed when a
transversal line crosses a pair of
parallel lines i.e.

- Vertically opposite angles

- Alternate angles

- Cointerior angles

- Corresponding angles

- Supplementary angles

In each case clearly explain the
properties of the types of angles
formed.

Guide them in finding values
of missing angles based on the
properties of the angles.

Emphasise that when using the

angle properties in their solutions
they should always state the type
of angles in bracket. This will help
them master the concepts easily.

Encourage cooperative learning
to help learners consolidate these
concepts.

27. | To construct a kite ABCD
using a ruler and a pair
of compasses only, given
that the diagonal of the
kite AC=6cmandthe
diagonal BD bisects AC
at X where BX=3 cm and
DX=5cm.

Slightly more than half of
the candidates (51.9%)
had little knowledge

in using mathematics
instruments and the
properties of a kite.

They therefore, failed to
construct the kite that was
described.

Help them to understand the
properties of a kite i.e.

A
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QN

WHAT WAS REQUIRED

WEAKNESSES OF
CANDIDATES

ADVICE TO TEACHERS

- Two pairs of adjacent sides are
equal. (AB=AD and BC=CD)

- One pair of the opposite angles
are equal. (angle ABC=angle
ADC)

- The diagonals bisect at right
angle.

- The longer diagonal AC bisects
the shorter diagonal BD.

Engage learners in activities such
as making kites that can help
them visualize the properties of a
kite. Let them make paper kites of
different sizes.

Encourage learners to always draw
a sketch to guide them in their
construction.

Emphasize accurate measurement
of line. Stress that measurement of
length should start from the zero
mark on a ruler.

Emphasise Use of well sharpened
pencil.

Encourage step by step approach
while teaching construction i.e.
after demonstrating a skill allow
learners perform the task as you
supervise.

Give more practice in constructing
different types of quadrilaterals
such as rectangles, squares
parallelograms, kites etc

29
)

To use the given table
showing the price at
which a bank bought and
sold foreign currencies
in Uganda shillings to
find the amount of Kenya
shillings Moses will get
from US dollars 200.

Encourage step by step
approach while teaching
construction i.e. after
demonstrating a skill
allow learners. Almost
half of the candidates
(47%) failed to interpret
the table on the
exchange rate.

Encourage step by step approach
while teaching construction i.e.
after demonstrating a skill allow
learners Help learners understand
that different countries have
difference currencies with
different names and values.

For example,
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(0] WHAT WAS REQUIRED

Currency | Buying | Selling
in in
Ug.sh | Ug.sh
1Ksh1 24 26
1USD 3,900 3,950
1GBP 4,400 | 4,700

WEAKNESSES OF
CANDIDATES

They did not know
which figures in the
exchange rate table to
use in carrying out their
conversions.

ADVICE TO TEACHERS
Country Currency | Symbol
United States Dollar $orUSD
of America
Great Britain Pound £ or GBP
Kenya Shilling Ksh
Rwanda Franc RF

= Help learners understand that
foreign currencies are bought
and also sold. The people who
buy and sell foreign currencies do
business for profit. Therefore, the
selling rate is always higher than
the buying rate.

= Emphasise that when a person
wants a foreign currency, he/she
is sold the currency and therefore
the selling rate is used. When the
person wants the local currency
to be exchanged for a foreign
currency, the foreign currency is
bought from him/her. Therefore,
the buying rate is used.

s Presentto learners’ exchange
rates (Buying and Selling)
from newspapers or prepared
charts to help them understand
this concept. Let themrole
play buying and selling foreign
currencies.

= Inthe case of the given question,
- The USD 200 will first be
exchanged (bought) for
Ug.sh since there is no direct
transaction for Ksh and USD.

200 x 3900 = 780,000

- Then the Ksh will be sold to
Moses for Ug.sh 780,000
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WEAKNESSES OF
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ADVICE TO TEACHERS

The rate of Ug. Sh 26 is used.

789999 _ ysh30,000.
26

= Give learners adequate practice in
questions wh ere buying and selling
of currencies are involved.

30.

(a)

To find the number of days
two workers take to dig

a piece of land together,
given that the first worker
could dig the land alone

in 6 days and tahe second
worker could dig the same
piece of land alone in 3
days.

About 72% of the
candidates failed to apply
the idea of proportion to
find the number of days
the two workers will take
together to dig the piece
of land.

= Help learners understand the
concept of inverse proportion
“When the number of people
required to do work increases, the
number of days required to do the
work decreases and vice versa'’.
Use variety of real-life situations
such as filling water tanks, painting
walls to introduce this idea.

= Encourage step by step approach
while teaching construction i.e.
after demonstrating a skill allow
learners Break down the problem
into smaller steps guiding learners
to find the number of days as
follows:

- If the first worker takes 6 days
to dig the land, which means in

equal proportions, in one day

the worker digs % of land.

1

6

- If the second worker alone
takes 3 days, 1Linone day the

worker digs.
1
3
- Together in one day they dig
141
6 3
1+2 1
6 2 the land.
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QN WHAT WAS REQUIRED CANDIDATES ADVICE TO TEACHERS
- If% of the land is dug in one
day by the two workers, then to
complete the land they take
1+1= x£:2days.
2 1
= Take learners step by step in the
working.
Give learners more of such
application of fractions in daily life.
30 | To calculate the amount of | Of the sampled After finding the number of days
(b) | money the farmer spent to | candidates, 71.3% could the workers take to dig the land,
dig the land if the farmer not proceed to calculate help learners understand that
paid each worker sh. the amount of money the payment to the workers is to be
15,000 per day. farmer spent to dig the done per day. Therefore,
land because they did not - In one day, the farmer spends
find the number of days Sh. 15.000 x 2 = sh30.000
the workers took to dig the
land. - Intwo days, the workers will be
paid a total amount of
Sh. 30,000 x 2 = Sh. 60,000
Give learners adequate
experience in problems where
there is integration of topics.
31 | To study the given 58% of the candidates Revise with your learners the
(a) | diagrams of cup B and failed this question. relationship between diameter

container A to answer the
questions about them
given that forty full cups
of water in cup B fills
container A.

| I

To find the volume of cup
B.

They were unable to
identify the radius of the
cylindrical cup. Some of
the candidates failed to
apply the correct formula
for finding the volume of
the cylinder.

and radius i.e.
2r=dorr=d=+2

Introduce to learners that the cup
given is an example of a cylinder
with two circular ends. Therefore,
its volume = Area of the circular
end x the height

Volume = mtr’x h

Volume = mwr h

butr=10+2=5cm, h=14cm

V=x5x5x14
=22x5x5x2 =1100 cm?
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WHAT WAS REQUIRED

To calculate the base area
of container A.

WEAKNESSES OF
CANDIDATES

67% of the candidates
failed to find the base
area of container A. The
candidates could not
relate volume of cup
B to the volume of the
container A.

ADVICE TO TEACHERS

= Help learners understand that

the volume of container A'is
equal to the amount of water

it holds when full. Since forty
full cups of water in cup B fill it,
therefore, volume of

container A =40 x1100 cm3
=44000 cm?

RememberthatV=Axh
Therefore, base area (A)
44000cm®*=Ax50cm

44000cm® _50cm A
50cm ~ 50cm

880cm?=A

While teaching about application
of volume and capacity in real life,
use practical approaches where
learners participate in filling big
containers using smaller ones.

Give a variety of such examples
to consolidate concepts learnt.

32.
(®)

To study and use a given
pie chart showing the
number of animals reared
on Amanya'’s farm to
calculate the total number
of animals on the farm
given that there are 11
more goats than sheep on
the farm.

A number of candidates
(57.6%) failed to calculate
the value of rin part (a).

62.5% of the candidates
failed to relate the
difference in degrees to
the animals on the farm in
part (b).

Help learners to understand that
pie charts are also called circle
graphs. They help us to organize
information. The information on
pie charts can be in fraction form,
percentages or in degrees.

Help them understand that
when the information on a pie
chartis in degrees, the entire
circle represents 3600, when the
information is in percentages,
the entire circle represents 100%
and when the information is in
fractions, the circle represents
1whole.
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WEAKNESSES OF
CANDIDATES

ADVICE TO TEACHERS

= Learners should be made to

understand that the unknown can
be got by equating the elements
in the pie chart to either 360° or
100% or 1 depending on their
representation.

Guide learners to correctly relate
the difference in degrees to the
number of animals in order to find
the total number of animals on
the farmi.e.

- The difference between the
degrees for the goats and that
for sheep equals to 11 animals.

- Form equation to solve for the
number of animals. Encourage
the use of proportions in
solving such problems.

Expose learners to more of such
problems in the course of their
learning.

E 2023 PLE REPORT ON WORK OF CANDIDATES



2.2: Report on Candidates’ Work in Social Studies with Religious Education

WHAT WAS WEAKNESSES OF

QN REQUIRED CANDIDATES ADVICE TO TEACHERS

4. To state one reason Out of the sampled = Guide learners to identify the
why you would not candidates, 27.2% different modern and traditional
advise fishermen candidates did not practices of fishing carried out in
to use herbs as a understand that herbs different communities.
method of fishing. are traditional methods of Discuss with learners the

fishing. They associated the | .hjienges faced by the fishing
use of herbs to poisoning. industry in Uganda.
Discuss the negative practices
carried out on the water bodies
during fishing.
Research widely in order to
integrate fishing practices
common in both rural and urban
contexts.

5. To give any one Slightly more than half of Guide learners to understand the
negative effect of the | the candidates (51.1%) evolution of EAC and why it was
collapse of the East were bewildering the formed.

African Community factors that led to the Discuss with learners the factors
(EAC)in1977 onthe | collapse of the EAC with
development of East | the negative effects of its thatled t(.) the collapse of the
i . community.
African countries. collapse.
Discuss with learners how the
collapse of EAC in 1977 negatively
affected the development of East
Africa countries. For example, low
market for goods, high taxation of
goods among others.
Discuss with learners the reasons
for the revival of EAC.
Explain how countries benefit
from being members of EAC.
7. To give the meaning | More than half of the Engage learners in different

of the word
recycling as used
in environmental
protection.

candidates (53.2%) failed
to differentiate between
recycling and reusing

in the context of waste
management.

activities to enhance the
development of language
competences as stipulated in
the curriculum. For example,
explaining the words related to
the topics or asking learners to
use them in sentences.
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= Discuss with learners the
different types of waste in our
communities.

= Discuss with learners the ways in
which we can manage wastes in
our communities.

= Help learners to explain methods
used in environmental protection
such as; reuse, recycle, refuse,
reduce, repair, dispose to
help them differentiate the
terminologies.

= Useintegrated approach to
expand learners’ knowledge by
borrowing from other subjects
like Integrated Science, using
resource persons and videos.

10. To give any one way More than half (56%) of = Guide learners to identify the
in which billboards the candidates had limited different ways (both modern
promote trade in the | knowledge of billboards. and traditional) in which people
community. They mistook billboards to advertise their goods and
be notice boards. services.

= Visit the nearest town to help
learners observe/ describe the
different designs of billboards.

= Guide learners to describe
different media used in
advertisement as a way of
making their availability known.

= Discuss the advantages and
disadvantages of different means
of advertisement.
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Q REQUIRED CANDIDATES
11. To explain how Two thirds of the = Discuss with learners the different
the distance of an candidates (65.8%) factors that affect climate of an
area from large gave general factors that area.
water bodies affect influence climate instead : )
) i o = Discuss with learners how each
the climate of the of being specific to large )
. ) . of the factors affects the climate
surrounding land. water bodies while some
) of an area. For example, places
candidates (11%) gave ) .
) ) near large water bodies receive
mportance of water bodies more rainfall compared to places
instead of the effects of far awa P P
the water bodies on the v
surrounding areas. = Use demonstrations, illustrations,
diagrams and videos to show
learners how the different factors
affect climate.
13. To give the Almost 60% of the = Help learners to identify different
importance of rubber | candidates gave the resources found in Africa.
trees tg the ’Fransport general |mportance + Discuss how different resources
sector in Africa. of rubber instead of in Africa help to improve our
linking the importance wellbeing.
to transport sector while
other candidates confused | = Discuss with the learners how
rubber trees with mangrove each resource is used and the
trees products got from them, for
' example, latex is got from rubber
trees.
= Guide learners to explain how
rubber supports other sectors
like transport, industrial and
service sectors.
= Discuss the ways in which rubber
trees are different from other
trees.
14, To give one reason More than half of the = Discuss with learners the

why plants in desert
areas have deep
roots.

candidates (52.1%) did not
know how plants in desert
areas adapt to climatic
conditions.

characteristics of desert climate.

= Guide learners to describe how
plants in desert areas adapt to
the conditions.
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16. To state any one A big proportion (70%) = Guide learners to identify the
way in which a high of the candidate gave the different social services provided
population may disadvantages of high in their districts.
negafrwely affec? the populatlgn in generall but Discuss with learners the
prov.|5|on‘ of social not how it may‘ n.egat|ve|y advantages and disadvantages of
services in an area. affect the provision of a high population in an area. For
social services. example, low population makes
provision of social services easier
and in better quality than high
population which can lead to poor
social service provision.
Guide learners to explain how
high population negatively affects
social service delivery.
17. To explain how Almost half of the Guide the learners to describe
the government of candidates (46.3%) were who the youths and other
Uganda has helped giving ways the government vulnerable groups like women,
the youths to improve | is eradicating poverty disabled, and elderly are.
their standards of and general aspects of
living. development instead Guide learners to explain the term
of explaining specific standard of living.
interventions targeting the Guide learners to identify
youths. Foryexample, some the current programmes or
candidates .re.sponses interventions government has
were;.by. bqulng schools, put in place to help the youths
by bu"d'”g hospitals ahd and other vulnerable groups to
constructing roads which improve their living standards
are general aspects of like, Youth Livelihood Programme.
development.
19 To state any one way | Slightly more than half of Guide learners to read the

in which the national
constitution guides
people on the use of
the Uganda National
Flag.

the candidates (51.1%) had
limited knowledge of how
the constitution guides the
use of the National Flag and
hence, misinterpreted the
question.

National Constitution especially
about the national symbols.

Discuss with learners the national
symbols as stipulated in the
constitution.

Guide learners to describe the
guidance in the constitution
regarding the use of the national
symbols.
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21 To explain how More than three quarters = Guide learners to differentiate
afforestation reduces | of the candidates (76.5%) the different forms of
landslides on did not understand the environmental degradation.

insl : iff
mountain slopes di ergnce betwegn } = Discuss how different forms of
landslides and soil erosion. . .
environmental degradation are
As such, somewrote managed such as; landslides,
responses like "it controls mudslide and soil erosion.
soil erosion”.
= Guide learners to explain why
landslides are common in
mountainous areas.
= Guide learners to describe how
growing trees on mountain
slopes can reduce landslides,
that is, roots of trees hold the
soil firmly.

23. To give areason why | Some candidates (33.3%) | = Guide learners to identify the
traffic police officers | mistook wearing jackets duties of traffic police officers.
are er.mouragec.i to W|th reflectors to wearing « Discuss with learners the type
wear jackets with white clothes. As such . . . .

) i of jackets traffic police officers
reflectors while on ?ome gave .reas"c?ns like and bodabodas usually wear
duty. to.ref'lect. l'gh_t |nste§d and other protective gears to

of |‘|n.k.|ng itto |ncre‘a5|ng maintain road safety.

visibility and reducing

accidents on the road. = Guide learners to explain why
traffic police officers wear
jackets with reflectors, for
example, to be easily seen.

24. To write one factor Two thirds of the = Help learners to describe the

that enables people
to survive in semi-
desert conditions.

candidates (66%) did
not understand the
characteristics of semi-
desert conditions and
how people adapt to such
conditions. They instead
wrote the importance of
Oases.

characteristics of semi-desert
areas.

= Guide learners to differentiate
between the conditions in
desert areas and those in semi-
desert areas.

= Discuss with learners what
people do in semi-desert
conditions in order to survive.
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26. To give areason why | Half the number of Guide learners to identify the
one would encourage | candidates (50.9%) gave symbols that are unique to a
fellow pupils to recite | the importance of school school.
their school motto at | symbols instead of why Discuss with learners the
every assembly. pupils are encouraged to importance of each school

recite their school motto symbol to the school and

in every assembly. For learners.

example, some wrote, for _

easy identification of the Help learners to give reasons -

pupils in case of accidents why they would encourage their

on the road. fellow pupils to recite the school
motto in every assembly.

3L To draw a map More than two thirds of Guide learners to describe what
symbol showing an the candidates (69.1%) map symbols are.
airport. qrew pictures of airplanes Let learners give examples of

instead of a map symbol
] ) common map symbols.
showing an airport.
Guide learners to draw different
map symbols.

35. To write one 62% of the candidates Guide learners to identify the
challenge faced by wrote the challenges facing common minerals mined in
miners who use the mining sector instead of Uganda/East Africa/Africa.
underground method | challenge faced by miners . .

" c Discuss the importance of
of mining. who use the underground - ,
. the mining sector to socio-
method of mining. For )
economic development.
example, some wrongly
wrote “low technology”, Guide learners to explain the
shortage of funds among methods used in mining.
others.
Discuss with learners the
challenges faced by miners in
using the different methods of
mining.
36. To give one reason More than half (60.7%) Guide learners to read the story

either: why Joseph or
Yusuf was sold to the
Midianite traders by
his brothers.

of the candidates gave

the negative effects of too
much love instead of giving
the reasons why Joseph

or Yusuf was sold by his
brothers.

of Joseph and other related
stories in the Holy Bible.

Discuss the message in the
Bible texts read to help them
interpret Bible messages.

Discuss with learners why the
brothers of Joseph were jealous
of their brother.
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For example, some Ask learners to explain what
candidates presented, they learn from the decision of
“Joseph was much loved Joseph's brothers.
by his father” as if a father
loving a son is bad practice.
Furthermore, 10 percent
of the candidates did not
answer the question.
42. To name one symbol | 60 percent of the Guide the learners to identify
(a) of authority used candidates named national the roles played by different
by the Speaker of symbols of Uganda instead personnel in parliament such
Parliament of Uganda | of the symbols of authority as the Clerk to Parliament,
during parliamentary | used by the Speaker of Speaker, Sergent at Arms,
sessions. Parliament of Uganda. among others.
Furthernjorg, the results of Guide learners to identify the
analysis indicated that 15 .
. instruments/symbols of power/
percent of the candidates )
did not attempt question authority for the speaker
42 (2). and of[he|_'s. For example, the
constitution, mace, wig, and
rules of procedure, among
others.
Use debate to help learners
understand how the parliament
operates.
Where possible, visit the
parliament with the learners
to understand more about its
functions.
42.(c) To give the difference | Results indicated that 64 Guide learners to understand

between a billand a
law.

percent of the sampled
candidates did not
understand what a bill
and a law are in context

of processing a law in
parliament. As such, they
gave the general meaning
of laws. 21 percent of the
candidates did not answer
question 42 (c).

the process of making laws.

Guide learners to relate the
making of school rules and
regulations to the process of
making laws in the parliament.

Expose learners to different
terms used in parliament
such as bill, law, act, rules of
procedure among others to be
able to differentiate them.

2023 PLE REPORT ON WORK OF CANDIDATES



WHAT WAS WEAKNESSES OF
(0] REQUIRED CANDIDATES ADVICE TO TEACHERS
44 (a) To give the difference | Almost half of the = Guide learners to relate how the
between donations candidates (48.6%) did government and family gets
and loans as sources | not have knowledge of income.
of government the dlﬁerence between + Discuss with learners the
revenue. donations and loans and 26
] sources of government revenue
percent of the candidates .
) ) and their differences.
did not answer question
44(a). = Guide learners to understand
that gifts are not paid back just
like the donations while loans
are paid back.
= Explain to learners the kind of
donations that government
receives.
= Discuss the sources/
conditions of loans.
44 (b) To give two reasons | Results indicated that 30 = Discuss with learners how the

why the government
of Uganda allocates
money to Ministry of
Education and Sports
every financial year.

percent of the candidates
gave the importance of

budgeting instead of giving

specific aspects on which
the Ministry of Education

and Sports spends money.

government spends the money
it collects.

Guide learners to explain

why government allocates
money to different ministries/
departments.

Discuss with learners the
activities carried out by the
MOoES like training teachers,
paying salaries to teachers,
conducting co-curricular
activities, recruiting teachers
among others.

Guide learners to explain
different activities on which the
MOoES spends money.
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46 (a) To give any two Almost half the number of Guide learners to identify the
reasons why candidates (45.8%) gave European powers that colonised
Germany colonised reasons why Europeans East Africa.
Tanganyika. colonised Africa in general Discuss with learners the
instead of giving reasons reasons why Europeans
why Germany colonised colonised East Africa.
Tanganyika.
Guide learners to give reasons
why Europeans colonised each
East African country.
Help learners to give reasons
why Germany colonised
Tanganyika.
46.(b) | To state two positive | 51.3% of the candidates Help learners to identify the
effects of German stated the positive effects trading companies in East Africa
East Africa Company | of colonial rule instead of at the time of colonial rule such
(GEACO) on the positive effects of GEACO as, Imperial British East Africa
development of East | on the development of East Company and Germany East
Africa. Africa. Africa Company.
= Some other candidates Discuss with learners the
confused the effects roles played by the trading
of GEACO and that companies in the colonisation
of IBEACO while 18% Process.
did not respond to the Guide learners to state the
question. positive effects of the trading
companies on the development
of East Africa.
49, To state the ways in More than a third of the Guide learners to identify some
(b) which South Africa’'s | candidates (35.3%) stated of the industries that exist in

industries are helpful
to the growth of other
sectors.

the benefits of industries to
people instead of relating

it to other sectors like
agriculture and mining.
Furthermore, 13 percent

of the candidates did not
answer question 49 (b).

South Africa.

Discuss with learners the
importance of industries in

the growth of a country. For
example, being source of
revenue, employment and
supporting other sectors of the
economy.
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Discuss with learners the nature
of industries that can help other
sectors to grow. For example,
tools made in industries are
used in agriculture and fishing
sectors.

Guide learners to relate some
industries to the existence

of other sectors like textile,
beverages, electronics, mining
and agriculture, among others.

50 To state any two

(b) benefits Uganda can
get by participating
in peace keeping
missions in Africa.

More than a third of the
candidates (37%) mistook
the aims of common
market with the benefits of
peace keeping mission.

Explain the importance of peace.

Discuss with learners situations
that can disturb peace.

Explain how peace can be
promoted in their local areas.

Discuss the ways in which peace
can be promoted in Africa.

Discuss how the African Union is
trying to solve the issue of civil
wars in Africa.

Let learners identify the different
Peace keeping missions that
Uganda was/is involved in.

Discuss how Uganda benefits
from participating in the peace
keeping missions. For example,
getting fighting equipment,
gaining experience in ensuring
peace with neighbouring
countries and getting
international recognition.
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53 (b) To state two miracles | More than half of the Guide learners to read about
EITHER/ | Moses or Prophet candidates (51%) stated from the Holy Bible the ten
OR Musa performed in the punishments God sent plagues and the miracles that
order to convince to the Egyptians inform of Moses performed.
Pharagh to release the plagues instead of the Discuss with learners why God
the children of Israel. | miracles Moses performed
chose Moses to rescue the
before the plagues.
people of Israel.
Guide learners to understand
the punishments God sent to
disobedient people.
Discuss the differences and
similarities between the
miracles that Moses performed
and the ten plagues.
54 (a) To state any two Results indicated that 43% Expose learners to language
EITHER/ | ways in which of the candidates gave the competences that are specific
OR the Uganda Joint roles of voluntary religious to RE.
Christian Council organisations instead of Discuss with learners the roles
(UJCC)/ Uganda specifically stating the of the UJCC and other religious
Muslim Su preme ways UJCCand UMSC have | oanisations socially, politically
Council (UMSC) has | promoted social welfare of and economically. For example,
promoted the social | people. Additionally, 13% participating in the making of
welfare of people. of the candidates did not CRE/IRE Syllabi.
answer question 54 (a) ) ] ]
Either/Or part. Discuss the wgys in which UJCC
promotes social welfare of the
people, for example, supporting
the disabled and those hit by
disasters, among others.
55. (b) To write two Slightly more than half Guide learners to identify the
EITHER/ | conditions that can of the candidates (52%) sacraments celebrated in their
OR enable a Christian/ wrote the importance Christian faith/ Guide learners

Muslim to take part
in Holy Communion/
Hijjah.

of Holy Communion/
observing Hijjah instead of
the conditions.

to explain the meaning of
HIJJAH.

Discuss why the sacraments
are important in Christianity/
Hijjah is important in the life of
a Muslim.
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= Discuss with learners the

conditions that one has to

fulfil in order to take a specific
sacrament such as prior
preparation through repentance
(Penance), confirmation,
wedding and undergoing
religious instructions/before
performing Hijjah.

Invite a resource person to
explain about the sacraments/
pillars in Islam.

55 (b) To write two

OR conditions that
enable a Muslim to
observe Hijjah.

A sizeable proportion of
the candidates (80%)
wrote the importance of
observing Hijjah instead of
the conditions.

Guide learners to explain the
meaning of HIJJAH.

Guide learners to explain why
Hijja is important in the life of a
Muslim.

Discuss with learners some of
the conditions one has to fulfil
before performing Hijja.

Invite a resource person to
explain the pillars in Islam.
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2.3 Report on Candidates’ Work in Integrated Science

(0]} | WHAT WAS REQUIRED | CANDIDATES’ WEAKNESSES | ADVICE TO TEACHERS

1. To name the type of teeth | Slightly more than half of the | = Help learners to distinguish
which develops last in candidates (54%) gave their between types and sets of teeth
humans. response as Wisdom teeth. and the ages at which they

Others had permanent teeth. develop.

They failed to differentiate = Teach concepts as stated in the

between types and sets of curriculum and resource books.

teeth. = Emphasise the correct use of
scientific language.

6. | To mention the activities | 60.1% of the Candidates = Teach the different
carried out in a crush failed to identify the activities management practices carried

carried out in a crush. out on a cattle farm and the
They had their responses farm structures where they are
as fencing, zero grazing, carried out.
paddocking, dipping. = Emphasise the primary use of
those farm structures.
= Make field visits and use
resource persons when
handling this topic. The use of
video clips can also be useful
when teaching this topic.

9. | Togive the similarity More than three quarters of = Teach different types of
between fungi and the candidates failed to draw organisms, their characteristics
animals in the way they | similarities between animals and make comparisons on
feed. and fungi in the way they their similarities and difference

feed. such as the way they feed,
reproduce, move, protection
and others.
= Help them draw the similarities
between fungi and animals in
terms of feeding.
17. | To give the function of Slightly more than a quarter | = Use practical approach when

the part marked M on the
diagram.

Clay material

Metallic material

of the Candidates (28%)

did not know various parts

of a charcoal stove.They

had responses like; for air
circulation, to let out warm air
and heat.

teaching heat transfer.

Emphasise the meaning of
convection current and how it is
applied in a charcoal stove.

Help learners to identify the
different parts on a charcoal
stove and the uses with help of
areal stove.
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28. | To state the way in which | Almost half of the Candidates | = Help learners understand the
a child health card is (49.5%) failed to state use of a health card to the
important to the parent. | the importance of a child parent and to the health worker.
health card.l They presented | | yse 4 resource person to teach
responses like; the information on a child
- it helps a parent to know the health card.
child's date of birth. ) )
= Use child health card or their
photocopies to use when
teaching this content for
learners to see and touch.
31. | To state the importance | About half (50%) of the = Teach the topic on machines
of screws in our daily life | candidates were giving the using real objects’
usles of spar‘mers and screw = Demonstrate on how different
drivers. Their responses machines work as this will help
included, untie the bolts, and learners understand different
tighten the nuts and screws. machines.
= Expose learners to real
examples of screws in their
environment and practically
make the learners to use them.
= Demonstrate the use of screws
and other simple machines
during the lesson to help them
understand.
42 | Apart from anthrax, to More than half of the = Teach about the animal pests
(b). | name one other disease | candidates (58.9%) lacked and diseases using a variety

of goats controlled by
vaccination,

sufficient knowledge on
diseases of goats and their
control measures and almost
11 percent did not answer the
question. They had responses
like foot rot, mastitis, east
coast fever, heart water and
tick-borne disease.

of methods with more learner
engagement e.g. the use of
VIPP cards, field visits, use of
video downloads and resource
persons.

= Teachers should teach the four
caustic agents of diseases
of goats and group them
accordingly.

= Discuss with learners the
specific diseases of different
animals, their prevention,
control and treatment

= Help them understand that
some diseases are common to
all animals, hence they should
get the differences.
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(0]} | WHAT WAS REQUIRED | CANDIDATES’ WEAKNESSES | ADVICE TO TEACHERS

42 | To give the reason for More than a third of the = Teach different farm records
(¢). | keeping farm health candidates (40.6%) failed and their importance where
records. to interpret the information possible, make farm visits and
from the table. They had see these records.
some of the responses as;
i Use resource persons such
know the profit and loss, to
, as farmers, farm managers
be taxed fairly and to be able .
and veterinary doctors when
to get a loan from the bank. . . . :
teaching this topic on animal
keeping.
Use project method to have
learners develop records for
their crops/animals.
Help learners to interpret
different farm records.
43 | To explain how Almost half of the sampled Help learners understand the
(c). | deforestation causes soil | candidates (47%) gave cause of soil erosion and the
erosion the effect of deforestation effects.
on S?”' They fallgd to g|ve Practically use the affected
how it causes soil erosion. )
environment to expose learners
Furthermore, 26% of the . . .
) ; to evidence of soil erosion and
candidates had partial .
) its causes.
response such as it leaves
soil bare. Expose the candidates to the
format of assessment like 43
(c) which requires 2 marks for a
complete response.
44 | To give the importance 81 percent of the candidates Demonstrate how to propagate
(d). | of the tuberinthe lacked knowledge on different crops.
propagation of Irish propagation of I.rlsh potato. Explain how tubers are useful
potato Results further indicated that . : )
) ] in the propagation of Irish
15% of the candidates did not
) potatoes.
answer question 44 (d)
Guide learners to always relate
their responses to the demand
of the question.
46 | To explain how to get the | More than half of the Teach learners science
(c). | volume of anirregular candidates (55%) failed to practically using available

object using given
materials.

describe the procedure for
finding the volume of the
irregular object given a set of
materials.

resources.

Help learners understand
various procedures used to get
results from the experiments.
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(0]} | WHAT WAS REQUIRED | CANDIDATES’ WEAKNESSES | ADVICE TO TEACHERS

The candidates had common
responses such as by using
displacement method, by
getting second level minus
first level. Findings further
indicated that 21 percent

of the candidates did not
answer question 46 (c).

= Give learners sufficient practice
on experiments to find volume
of different objects.

49 | Toidentify any two ways | Results indicated that 61% = Help learners participate in
(b). | of giving health education | of the candidates failed various ways of giving health
to the community. to present two ways of education messages to the
giving health education to community. These ways include
the community. They gave making posters, drama and
responses like; going for talks-how.
|mmun|sat|on, taking your = Teach the details about the
child to the health centre,
) elements of PHC.
teaching people on effects of
family planning. = Use resource persons to give
more details about health
education.
52 | To give ways in which More than two third of = Teach the importance of
(b). | information collected on | the sampled candidates demography in relation to
human population help to | (68%) failed to mention human health.
gddress health problems | ways how data cpllected = Use project method when
ina community. on demography is useful to teaching this topic.
address health problems.
They had responses such = Guide learners on how to collect
as; by using communication, information on health surveys,
helps in spread of diseases, organizing, analyzing and
by family planning, leads to interpreting it.
provision of enough food to
people.
54 | To explain how pouring | About half of the candidates | = Clearly teach ways of controlling
(b). | of oil on stagnant water (47%) failed to identify mosquitoes at different stages

helps to control the
spread of malaria.

the stage in life cycle of

a mosquito that can be
controlled by pouring oil

on stagnant water. They
provided responses like; it
kills mosquitoes in water, it
kills eggs of mosquitoes, to
reduce the spread of malaria.

of their life cycle.

= Use field visits to see the
breeding places for mosquitoes
and how to control them.

= Use resource persons when

handling this topic on vectors
and diseases.
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2.4 Report on Candidates’ Work in English

QN | WHATWAS REQUIRED

| WEAKNESSES OF CANDIDATES | ADVICE TO TEACHERS

1 Vocabulary:
to | To fill in the blank spaces

5 with suitable words.

53% of the candidates failed

gn 2. Whereas many of these
identified candidates did not
know the form of the word bite
that they were supposed to use,
others wrote words which were
not required.

For gn 5, 51% of the candidates
failed either by filling in the
blank space with incorrect
words such as babies, or by
spelling the expected word
wrongly, that is kitens for
kittens. 8% of the candidates
did not attempt the gn.

= Teach all vocabulary related
to animals; their young
ones, homes, sounds and
gender.

= Put emphasis on spellings
whilst teaching vocabulary.

= Use spelling games and
other spelling strategies
like ‘look, cover, say, write,
check’ spelling strategy

6 Formation and

to | Transformation of

15 Words:

To use the correct forms
of the words given in
brackets to complete the
sentences.

= Some of the candidates
failed gn 11. They spelt the

word carelessness wrongly.

= Some other candidates failed
gn 13. These candidates
knew the correct form of
the word but failed to spell
it correctly. For example,

they wrote Egyptain instead
of Egyptian. Others wrote

egyptian.

= 49% of the candidates failed
gn 14 mainly because of
the incorrect spelling of the
word behaviour. 3% of the
candidates did not attempt
the question.

= Be practical when
teaching in order to aid
understanding.

= Guide learners that the first
letters of proper nouns must
always be in the upper case.

= Lay emphasis on spelling
while teaching word
formation.

18 | One Word for Many:
0 | To rewrite the sentences
20 o

giving one word for the

underlined group of words.

» Half of the candidates
failed gn 18. Most of these
candidates wrote the

spelling of the word patients
incorrectly. 2% of the
candidates did not attempt
the question.

= Encourage learners to
read and follow the given
instructions carefully.

s Use the crossword puzzle
as a game to aid mastery of
vocabulary and spellings.
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QN | WHAT WAS REQUIRED | WEAKNESSES OF CANDIDATES | ADVICE TO TEACHERS

= 54% of the candidates failed
qgn 19 by writing words that
did not mean the same as
the underlined group of
words. 4% of the candidates

s 54% of the candidates
failed gn 20. Most of these

candidates confused open
(the adjective) which was
the correct response with

opened (the verb) which
was an incorrect response
for one word to mean ‘not
closed.

= Generally, some of the
candidates gave only
target words that are not in
sentences for these three

did not attempt the question.

= Guide learners to interpret

sentences according to
context.

Use a dictionary and a
thesaurus to help learners
identify the parts of speech
of different words and to
understand their various
usage.

Guide learners that one
word can belong to two or
more parts of speech, for
example the word well can
beaN,VorAdj.

Discuss with learners the
relationships between parts
of speech.

questions.
Create opportunities
for learners to carry out
extensive reading.
21 | Contraction/ = Only 7 percent of the Emphasize proper
and | Abbreviation: candidates wrote the full placement of the
22 | Togive the full forms of the | formof it's as one word (=it apostrophe in contractions.
given short forms. is) for gn. 21

= Findings of the analysis have
found out that 15% of the

candidates spelt Wednesday
wrongly (=Wenesday/
Wednessday/ Wedensday/
wednesday) for qn.22

Put emphasis on
capitalization of proper
nouns.

Emphasize correct spellings
in your daily instruction in
class.

During vocabulary lessons,
guide learners to identify
words which can be
abbreviated.

Be a role model in reading
contractions.

Expose learners to listening
to comprehension texts that
have contractions so that
they can identify them and
say them in full forms.
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QN | WHATWAS REQUIRED

| WEAKNESSES OF CANDIDATES | ADVICE TO TEACHERS

23 | Homophones: = Almost a quarter (24.1%) = Teach meanings of words
and | To use the given words in of the candidates wrote and their proper usage in
24 | sentences to show that clumsy sentences in gn. 23. sentences.
they know the difference 12% of the candidates did Gi " vt
in their meaning. not punctuate or wrongly hlve practice activities on
i omophones.
punctuated their sentences
most especially gn. 24. Guide learners to identify
and pair up homophones
during vocabulary lessons.
27 | Opposites: = More than a quarter of the Carry out on-the-spot
and | To rewrite the sentences candidates (29%) wrote the correction of mistakes made
28 | giving the opposite forms wrong word downer as the by learners during verbal
of the underlined words. opposite form of upper (gn. communication.
28) while other candidates E
ncourage learners to follow
merely wrote the target . )
) instructions carefully.
words but not in sentences.
Have learners practice using
words with their opposites
in sentences.
29 | Word Order: = More than a third of the Emphasize the correct
and | To arrange the given words candidates (35.3%) left out use of adverbs of time in a
30 |toform correct sentences. the word ‘morning’in gn. 30 sentence.
Whiletothersf se’parated the Emphasize the proper
word ‘anything: writing of compound words,
for example everywhere,
schoolchild, head teacher,
and sister-in-law. Some
compound words are closed
or open, while others are
hyphenated.
= Give learners the
opportunity to construct
sentences orally.
31 | Sentence No. | Attempted Not Emphasize oral construction
to | Transformation: but failed | attempted of sentences using the
50 | To rewrite the sentences (%) (%) already-learnt structures.
as instructed in brackets. 32 76 6 Encourage learners to use
33 56 1 articles as given in the
34 56 2 questions.
35 80 4
36 90 2
37 6l 8
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(0] | WHAT WAS REQUIRED | WEAKNESSES OF CANDIDATES | ADVICE TO TEACHERS

No. | Attempted Not = Give learners varied

but failed | attempted exercises on the use of

(%) (%) articles, for example

39 72 4 completing sentences and
41 75 3 short stories with articles.
43 58 2 = Emphasize correct spelling
44 55 1 of words in all lessons.
45 85 5 = Encourage learners to follow
46 75 3 instructions.
47 85 2
48 54 1

General observation

= More than three quarters
of the candidates (76.4%)
constructed clumsy
sentences most especially
ingn. 32.

= Results of the analysis
have also found out that 81
percent of the candidates
misused articles in their
responses in gn.35.

= Findings of the study
have also found out that
88 percent of candidates
left out key words in
their responses in gn.
36. Similarly, 72 percent
and three quarters of the
candidates omitted the
key words for gn. 39 and
gn.41 respectively.s More
than half of the candidates
(57.9%) spelt key words
wrongly for gn. 43, for
example they wrote occured
instead of occurred.

= Findings of the analysis have
indicated that 85 percent,
75 percent, 85.3 percent
of the candidates did not
follow the instructions given
in brackets for gns. 45, 46
and 47 respectively.
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QN | WHAT WAS REQUIRED | WEAKNESSES OF CANDIDATES | ADVICE TO TEACHERS

51, Sentence Transformation: = Encourage learners to read
52 To rewrite the sentences texts in different tenses
and as instructed in brackets. and then answer questions
53 about them, making
c°mprehensi°n: sure that they maintain
To read/study the given texts the tehses usedinthe
and then answer the questions questions.
variety of text types:
51 | Attempted Not narrative, expository and
but failed | attempted argumentative.
(%) (%)
62 1 = Give regular practice in
comprehension in different
81 5
assessments.
22 5
= Emphasize proper spelling
61 7
of names of people and
75 12 places given.
I 13 = Emphasize techniques
o8 1 of proper answering of
32 7 comprehension questions.
35

= Encourage learners to use
74 10 names of people, places,
etc. the same way they have
been given in the texts.

52 | Attempted Not = Encourage the learners
but :ailed atte';"pted to interpret sentences
(o) (%) according to context.
59 4
= Emphasize to learners that
4 2 the voice (active/passive)
32 1 used in the response should
48 4 be the same as that one
64 21 used in the question.
23 5 = Give learners daily
42 8 practice of intensive
27 7 and extensive reading to
develop interpretation and
24 4 comprehension skills.
22 8
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QN | WHAT WAS REQUIRED | WEAKNESSES OF CANDIDATES | ADVICE TO TEACHERS

53 | Attempted Not = Results also indicated that
but failed | attempted 81 percent of the candidates
(%) (%) directly lifted information
95 1 from the texts given in
14 5 gn. 51 (b) while others
wrote phrases that were
7 1 meaningless, not related to
50 1 the texts given and misspelt
12 1 names of people and places
35 - used in the texts.
63 10
67 10
a (i) 44 17
(ii) 32 6

= Findings of the analysis
established that 62 percent
of the candidates wrote their
responses using wrong
tenses in gn. 51(a).

= Results also indicated that
81 percent of the candidates
directly lifted information
from the texts givenin
gn. 51 (b) while others
wrote phrases that were
meaningless, not related to
the texts given and misspelt
names of people and places
used in the texts.

= Results have indicated that
60.6%, 75%, 70.8% and
73.7% of the candidates
used pronouns in places of
proper nouns for gns. 51 (d),
(e), (f) and (j) respectively.

= More than half (59.0%), 87
percent and 95 percent of
the candidates changed the
voice used in the question as
they wrote their responses
for gns 52 (a), 52 (h) and 53
(a) respectively.
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QN | WHAT WAS REQUIRED | WEAKNESSES OF CANDIDATES | ADVICE TO TEACHERS

54 | Composition 54 | Attempted Not s Emphasize proper

(Completing a Dialogue): but failed | attempted punctuation of different

To complete the dialogue (%) (%) types of sentences.

;y f|||;|ng vaat Kawudha 1 ! = Encourage learners to have

rendasaid. 35 2 day-to-day practice of polite

66 6 language, bearing in mind
67 7 the proper construction of
44 6 sentences.
60 12 = Guide learners to use
59 10 tenses in the context of the
49 10 prompts given.
25 12 = Guide learners to identify
38 5 the different ways they can

= Two thirds of the candidates

punctuated their sentences
incorrectly in gn. 54 (c)

and (d), for Instance they
used full stops in places of
question marks.

= Results also indicate that

about 60 percent of the
candidates used impolite
language and left out the
either the title or the name
of the officer in gn. 54 (f) and

(h).

express themselves using
polite language in their day-
to-day interaction.

Guide learners on the
different ways they can
express polite language
in their day-to-day
communication.

Give learners regular
practice on dialogues in
different contexts so that
they can act and rewrite
them.

55. | Composition (Letter 5o = Guide learners to use
Writing): i ) tenses in the context of the
To write a formal letter to %E E_ prompts given.
the head teacher, asking 53 E & E « Give regular practice on
him/her to allow them to < = letter writing (both formal
go and attend their uncle’s g and informal).
wedding.

Address/date 9 = Encourage learners to follow
Addressee's % the instructions given so as
address to present their work in a
Salutation o2 chronological order.

Subject 76 = Adequately teach all parts
Seeking permission | 53 of both formal and informal
/date for the letters correctly.

wedding
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QN | WHAT WAS REQUIRED | WEAKNESSES OF CANDIDATES | ADVICE TO TEACHERS

58 |8

ag |2

T |
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o

4

Conclusion/ 50 3
complimentary

close
Name/signature 44 3

= Findings of the analysis
found out that more than
three quarters of the
candidates (76.4%) used
a wrong tense to write the
letter.

= Furthermore, 62 percent
of the candidates wrote
informal letters instead of
a formal one while others
wrote their letters without
following any chronological
order.

= Half of the candidates
(50.8%) interchanged the
components of an official
letter.
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3.0 RECOMMENDATIONS

In order to improve learners’ performance,

a) Teachers are advised to:

(@

(i)

(i)

(iv)

)

(vi)

(vii)

adopt learner-centred methods of teaching to promote active learner participation such as
group work, projects, demonstrations, role plays, debate, dramatization, excursions and others.
Guide learners to understand concepts taught and this enables learners to put what they learn
into practice (application of what is learnt).

use the Uganda National Primary Schools Curriculum while preparing their schemes of work
and lesson plans. This will help them to know the right content for a specific class.

embrace the use of technology during teaching such as videos, simulations and other learning
resources.

develop language competences in the learners by encouraging them to read story books,
participate in debates, conduct spelling games and handwriting competitions.

use the environment and locally available materials as much as possible to enable learners
relate their classroom experience to their real life.

carryout research and use a variety of reference books and other textbooks to enrich their
content knowledge. Teachers should avoid the habit of relying only on one textbook for teaching
but rather use variety of sources of information in order to remain abreast with information.

use practical approaches and activities to develop learners’ competences such as use of
resource persons, organising visits to important sites like tourist sites.

(viii) maximize the use of teaching and learning resources such as maps and charts and if possible

(i)

)

(xi)

(xii)

(xii)

(xiv)

involve the learners in making them.

provide assessment tasks that involve high order thinking skills instead of drilling learners to
recall and/or re-produce what is learnt.

engage learners in project work to elicit real life experiences like sending them to important
places and they make a report. For example, when learners visit a nearby market, they develop
skills such as; observation, inquiry, analysis, interpretation and reporting.

relate every topic being taught to other themes covered in previous classes given the spiral
nature of subjects. Learners should be helped to understand that knowledge is not fragmented.
Where possible, integrate knowledge of other subjects like Integrated Science while teaching
related concepts like environmental conservation, accidents, resources among others.

endeavor to teach all the topics in the curriculum for all the classes. Skipping some topics
creates content gaps hence poor understanding of concepts.

encourage the use of mathematical set instruments as early as Primary Four. This will improve
on learners’ manipulative skills. It will also give them opportunity to adequately practice drawing
of angles, lines and polygons.

use variety of textbooks for a particular class. This will expose them to best alternative
approaches to the topics being taught.
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(xv) adopt practical or play-based teaching approaches in their teaching and relate what is taught to
real life. This will make learning enjoyable and motivating.

b) Headteachers are encouraged to:

(i) initiate and promote school-based continuous professional development programs in each
subject area and support each other through mentoring, coaching, and team teaching.

(ii)  ensure their schools have active and functional subject clubs. Teachers and learners can
support themselves through these clubs.

(iii) provide the required learning resources to the teachers and learners.

(iv) model best instructional practices and create a culture of high expectation.

¢) School Management Committees (SMC) is expected to:
(i)  mobilise resources to support the teaching-learning programs in the school.

(i) monitor the teaching and learning process.

Additionally, we recommend schools to ensure the following instructional materials are provided to
facilitate the teaching-learning process:

(a) Mathematics

= Assorted textbooks recommended and approved textbooks by MoES and NCDC.
= Thecurriculum for each class

= Mathematical instrument sets for each child in upper primary.

= Chalkboard drawing sets for teachers use and demonstrations.

= Graph and square books.

= Enough notebooks for pupils and teachers.

(b) Social Studies

= Assorted recommended and approved textbooks.
= The curriculum for each class.

= Atlases, globes and wall maps

= Teacher made charts.

= Ground maps.

= Use of resource persons.

(c) Integrated Science
= Assorted recommended and approved textbooks.
= Thecurriculum for each class.

= Simple assorted chemicals and apparatus for practical science lessons
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Real objects in the environment such as plants, insects, animals, soil, etc.

Teacher made charts.

Models and specimens

Documentaries in form of video clips / instructional videos.

Use of resource persons

(d) English

Assorted recommended and approved textbooks.
The curriculum for each class.

Class readers

Dictionaries / thesauri

Flash cards.

Workbooks / cards

Audio tapes and players

Resource persons
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4.0 COMPARISON OF GOOD, AVERAGE AND WEAK CANDIDATES’ WORK

Mathematics
Good candidate’s work shows the following points:(see Appendix I)
= Thework is neat and well laid out.

= Proper understanding of the concepts about divisibility test, construction of angles, simplifying
algebraic expressions and calculating averages that were tested in numbers 13 to 16 on page 5.

= All the concepts tested were correctly worked out.

Average candidate’s work shows the following points:(see Appendix Il)
= Neat layout of work.
= Knows how to construct angles and calculate averages.

= Lacks knowledge on some of the concepts tested on page 5 i.e. divisibility tests and simplifying
algebraic expressions.

Weak candidate’s work shows the following points:(see Appendix )
= Lack of knowledge on what should be done on the competences tested on page 5 (numbers 13 to 16).

= Wrong calculations on each of the questions in number 13 to 16.

Social Studies with Religious Education

Good candidates demonstrate the following qualities in their work:(see Appendix IV)
= Allresponses to the questions are correct.

= Theresponses are neatly written in legible handwriting.

= Shows understanding of the demand of the questions.

= Use clear phrased language.

= Correct spelling of words.

Average candidate’s work shows the following points:(see Appendix V)

= Some of the responses to the questions are correct while others are wrong.
= Candidates had difficulty in writing correct spellings of some answers.

= Inadequate knowledge on some of the questions.

= Lack of clarity in some of the phrases due to inappropriate use of words.

Weak candidate’s work shows the following points:(see Appendix VI)
= Wrong responses to almost all the questions.
= Lack of understanding of the questions.

= Failure to understand the demand of the questions.
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= Copying some words in the question as response.

= Difficulty is spelling, for example, “Feri” instead of “Ferry".

Integrated Science

Good candidate’s work shows the following points:(see Appendix VII)
= Allanswers to the questions are correct.

= Theanswers are neatly written.

= Theanswers are expressed in clear language.

= The candidate has good understanding about seed dispersal and respiratory system.

Average candidate’s work shows the following points:(see Appendix VIII)
= Some answers to the questions are wrong.
= Handwriting is neat and legible.

= The candidate lacks some facts on the two topics tested in the two questions shown.

Weak candidate’s work shows the following points:(see Appendix IX)
= All answers to the questions are wrong.
= All answers written shows lack of understanding of the questions.

= Thewords used in answering the questions were picked from parts of other questions.

= Failure to read and understand the questions.

English
Good candidate’s work shows the following points:(see Appendix X)
= Theresponses are correctly written.

= Theresponses are neatly written.

Average candidate’s work shows the following points:(see Appendix XI)
= Some responses are not grammatically correctly.

= Thehandwriting is legible.

= Candidate's work has some crossings.

Weak candidate’s work shows the following points:(see Appendix XII)
= Most of the responses are incorrect.
= Candidate’s work has several crossings.

= Failure to understand what was asked,
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5.0 APPENDICES

Appendix I: Good candidate’s work in Mathematics

13. Given that 78t is a three-digit number-which is divisible by 9, find the

dlgltrep nh%dlgv}
tt :FJ

+f z18~1s
t -3

14. Using a ruler and a pair of compasses only, construct an angle of 45° in

the space below. | /

|
1
!
'
i

— — 45"
15. Simplify: 5q-2r-3q-r.
5g~2r-3g-r
= 59 ~39 ~2r-r
= 22 ~3r

16. A farmer sold the following number of eggs in a period of three days;
62, 73 and 78. Calculate the average number of eggs the farmer sold

in that period. IG 2
A - 1
Tetal ne of iiemj L&
A - 62173+78 17 8
. ,} 3. 3
A - 213
2
A = 5 Turn Over
_—
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Appendix I1: Average candidate’s work in Mathematics

13. Given that 78t is a three-digit number which is divisible by 9, find the
digit represented by t.

14, Using a ruler and a pair of compasses only, construct an angle of 45° in
the space below.

4-"1‘#—&

15.  Simplify: 5q-2r-3q-r.
(5¢ - ) -Bg-")

5?_- Zr= ‘3?_ Ao

S5q-3q - 2eke

']_CL.-f
.-—-—-_-._._-—

16. A farmer sold the following number of eggs in a period of three days;
62, 73 and 78. Calculate the average number of eggs the farmer sold

in that period. " s/w
Ave = —Su“b“ é 2
o O
S L2472 178 L1 8
3 213
- =21
&
)
=
5 Turn Over
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Appendix I11: Weak candidate’s work in Mathematics

13. Given that 78t is a three-digit number which is divisible by 9, find the
digit represented by t.
301
+ 348 BA2 Pt b
k> &9
a+3
gaF

14. Using a ruler and a pair of compasses only, construct an angle of 45° in

the space below.

[+

15.  Simplify: 5q-2r-3q-r.
Sl
3‘3"‘2f‘—-3q-,—
A-3+2rtr

= 3

16. A farmer sold the following number of eggs in a period of three days;
62, 73 and 78. Calculate the average number of eggs the farmer sold
in that period.

% oo

2 5 b
= 19 .
rsh?
4%
n
=z

Aie range = % Turn Over
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10,

11,

12,

13.

14

15.

Appendix IV: Good candidate’s work in Social Studies

Name the type of mountain formed as a result of the process shown

Give any way, in which billboards promote trade in the community.
]heyhbpnﬂ%eq !.t_!“.h@simczmt.@l.go.ogn.................

How does the distance of an area from large water bodies affect the
climate of the surrounding Iag;;

..E.rma..nmr.__\gfg.e...w.qtai . .1;—,5...r.acm.\.ta...E.JluHa._r.ngfaJJ...............

Write any one contribution of United Nations Educational Scientific
and Cultural Organization ﬁUNESCO) to the development of Uganda.

..-.t...gmmdm...x;ul.r.u.r.g......b@tli@gﬁa..m..ugutﬂu._........-...............
Hﬂ»; are rubber trees important to thé transport sector in Affica?
Dey..proack...ofex.for. 00 10T S——
Give one reason why plants in desert areas have deep roots.
10+0pfh¢urﬂbrgmungwofer
What role did Ludwig Krapf play towards the spread of Christianity in

East Africa? |
.H@..gg{[?..i.hsz.m!....-M}.Qrﬁ..&iqn.om.u.t...Kubu.r..ﬁ(\pya...................

3 Turn Over
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10.

11.

12,

13.

14,

15.

Appendix V: Average candidate’s work in Social Studies

Name the type of mountain formed as a result of the process shown
below.

Syncline

Compressional

ional
Compressiona forns

forces

o) = I T =
Give any one way in which billboards promote trade in the community.

Thejpncm';?fef&eﬁ{?ﬂeemOVWEH{ofﬁoqu

How does the distance of an area from large water bodies affect the
climate of the surrounding land?

There..ace. affecked be. LloodS

Write any one contribution of United Nations Educational Scientific
and Cultural Organization (UNESCO) to the development of Uganda.

How are rubber trees important to the transport sector in Africa?
Robber trees. are.used fo.make...car. feie s
Give one reason why plants in desert areas have deep roots.

-.EQ......@.&-}....m.’nea....Er....iﬁa..aoﬂ...Tc:,.g.ei..mcx.’rﬁ’x...ﬁ?o:mfﬁe soil

What role did Ludwig Krapf play towards the spread of Christianity in

Lmﬁ;}émgﬂ@hmged.m...E.gmﬂs.h..%lbﬁ....in}g ........

3 Turn Over
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10.

11,

12,

13.

14.

15,

Appendix VI: Weak candidate’s work in Social Studies

Name the type of mountain formed as a result of the process shown
below.

Anticline Syncline

Compressional
forces

.............. IR AT ITUAR LTI A STRYS At s & s N

Give any one way in which billboards promote trade in the community.

|

.

How does the distance of an area from large water bodies affect the
climate of the surrounding land?

...........................................................................................

Write any one contribution of United Nations Educational Scientific
and Cultural Organization (UNESCO) to the development of Uganda.

How are rubber trees important to the transport sector in Africa?
......................... ) {5 o
Give one reason why plants in desert areas have deep roots.

;Dlamo

What role did Ludwig Krapf play towards the spread of Christianity in
East Africa?

3 Turn Over
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52. (a)
(b)
53. (a)
(b)
54. (a)
(b)

Appendix VII: Good candidate’s work in Intergrated Science

State any two health problems that are common in
overpopulated areas.

O T AT Y TAY Lok 112 WO
[ N T LYo e Mo We LT=T=re = L= N

Mention any two ways in which collecting information.on human
population helps to address health problems in a community.

@ .M.helps.thegovernmeand. plon. forihe.pepulatian

iy ..)Lhelps oecple.imerove their gtandands ol
1iving -

Give any two_ways in which plants support human life. .
(i) Clanla gne agounce of food Yo humang

(ii) Planig are agource Opox&gen tohumans

........................................................................................

Mention any two-ways in which humans can conserve plant life.
0 -By.carcying..oul.alforesdalion ..o

@y ..8y.diacouraging. hush. borning. ...

Identify any.twao characteristics of the female anopheles mosquito
_that makes it a good vector for malaria.

M ..).bhaa.a.greheseia. for.anehing
() G lL.caoniga. the. plagmadivm.

How do the following methods help in controlling the spread of
malaria?

(i) _Pouring oil on stagnant water. _

(ii) _Sleeping under a mosquito net,

LdLenevenia moaguike . hies

14
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52.

33.

54.

(a)

(b)

(@)

(b)

(@)

(b)

Appendix VIII: Average candidate’s work in Intergrated Science

State any two health problems that are common in
overpopulated areas.

[0 N T S 2 A0 o YOO
(i) .E:Q&.L.} R R TR«

Mention any two ways in which collecting information on human
population helps to address health problems in a community.

(i) T.hm.s‘)w.mmmw.\i..Lz_;.-uc-k.h.,...cm:\.%..{a.}).Q.Tp..gi{}.x.dﬂzmoi.au!.u{rt'ns-

i)  Cllashng. ioformten. anbuman. acpulotinn. halps. de. koow. the
bithrates and deathrotaes -

Give any two ways in which plants support human life.
i) Sersplonts. am.cuice.of. Jood A humant. e
(i) .§$:mQ..Qlari&.!;im.u&d...{D.r..r..!mkinq..l’lwbgl.m.ﬂzdf.cin&.;.......
Mention any two ways in which humans can conserve plant life.

Oy R g R IR s mvsusaisecssmsassons
R T T R —

Identify any two characteristics of the female anopheles mosquito
that makes it a good vector for malaria.

@ Thafomal. ancphelos. mesquits..hac.o long. probossis........
(ii) 1.b.u.._F.?.EE‘:}F9...&[}09‘.\@'&9..mnssgwlo...bm‘...l)[chl..%h[?b..LG.ﬂquM
Jasmachium garm -

How do the following methods help in controlling the spread of
malaria?

(i)  Pouring oil on stagnant water.
Rouring cil..on..stagoand.. watk. . cuts. of Ahe.. oryoen. supely

Gi.mqu&o..!mmq; ...............................................................
(i)  Sleeping under a mosquito net.
Sleaping. vncke.o. mosyuilo. net... halps. d.conteol.mosguite...
BPRER oo e 50 AR 4
14
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52. (a)

(b)

53. (a)

(b)

54. (a)

(b)

Appendix IX: Weak candidate’s work in Intergrated Science

State any two health problems that are common in
overpopulated areas.

Mention any two ways in which collecting information on human
population helps to address health problems in a community.

L
RV e T T S

Give any two ways in which plants support human life.

(i) P—“ﬂﬁﬂmgﬂocﬁ
(1) e 0&!3&3

Mention any two ways in which humans can conserve plant life.
(e o I

Identify any two characteristics of the female anopheles mosquito
that makes it a good vector for malaria.

(T St = I X0 T ——

How do the following methods help in controlling the spread of
malaria?

(i)  Pouring oil on stagnant water.
...glani.j...am,..fl@.»n&—.....s«.\‘m‘s:.h....‘.J:u.a,...QH.H....!J.ehv.\fc:....
(i) Sleeping under a mosquito net.

14
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Appendix X: Good candidate’s work in English

54. One afternoon, a girl called Kawudha Brenda sought help from a traffic
police officer who was at the side of a busy road. What the traffic police
officer said is given below. Write, in the blank spaces provided, what
the girl said.

Girl: .(n.O.QA....Cl%&‘r.na&ﬂ..,...ﬁlt: ...............................................................
Officer: Good afternoon, girl.
Girt: |am.. hawwdha.. Ermclu ..........................................................

Officer: Oh! Nice name! I am Inspector Drici Bravo. So, how
can I help you, Brenda?

Girl: Lwont...10...Cnss.. %e wacroad. buld. | Sean. vakmles ........ .

Officer: Oh, no! You don't have to fear vehicles if you want to cross
the road.

Girl: .Hm......s.un.....l.....::r.o.as......H).e......ra.a.&.....r:a.s.il.y.-?.........................
Officer: To cross the road more easily, you use a zebra crossing.
Girt: \Nho'..)5..0..28) W A ——

Officer: A zebra crossing is a black and white path across the road
where vehicles must stop for people to walk across safely.

Girl: What.. &hﬂu dU W}\CD X ge 0.4 Zfbm u&&sr%?

Officer: When you get to a zebra crossing, stop and look right,
left and right again before ¢

ain: Wil e, drivees shop ft:: qH\f SeE..ne..danting

e 28bro cros Wﬁ
Ofﬁcer Yes, drivers will stop when they see you standing at the

zebra crossing. _
girt: 15 ere 0 zebron Cr0ssing. .. 0ear. here

Officer: Yes, there is a zebra crossing near here. Let's go there so
that I may help you cross the road.

it 0008, Y0 D E I e

Officer: You're welcome. Helping young children like you is one of
my duties.

Girl: . G‘IQde][f. DS[\? Qﬁl‘

Officer: Goodbye Brenda!

14

2023 PLE REPORT ON WORK OF CANDIDATES a



Appendix XI: Average candidate’s work in English

54. One-afternoon, a girl called Kawudha Brenda sought help from a traffic
police officer who was at the side of a busy road. What the traffic police
officer said is given below. Write, in the blank spaces provided, what
the girl said.

Girl: .......QTQQJ..apf:r.nam,u.qpfo}:e.r.-..............‘...........................
Officer: Good afternoon, girl.
Girl: .. at0. Kbt Bt

Officer: Oh! Nice name! I am Inspector Drici Bravo. So, how
can I help you, Brenda?

Girls oo | st 1o, crvss. the. road. but | frar vebideso

Officer: Oh, no! You don't have to fear vehicles if you want to cross
the road.

v 7
Girl: HUWC.QHICI@ﬂ"”?BW“JﬁRSJ)l :
Officer: To cross the rold more easily, you use a zebra crossing.
el LR . A L

Officer: A zebra crossing is a black and white path across the road
where vehicles must stop for people to walk across safely.

Girls oo HOU a0 ST e

Officer: When you get to a zebra crossing, stop and look right,
‘ left and rijht again before crossing.

Girt: ... Will the.. r.ive.{s..s:mfz.mLm..{lm/wm.ﬂ:fﬁ..ﬂm .@..at.f]ze...zﬁlm.mﬁﬁi

Officer: Yes, drivers will stop when they see you standing at the
zebra crossing.

1 ?
Girl: ............’;.r..i....ﬁ:..ga.y...&ﬂlzm..armm !tﬂﬂr}m’

Officer: Yes, there is a zebra crossing near here. Let's go there so
that I may help you cross the road.

Girl: T}mnkyau)ﬂpﬂcr:r

Officer: You're welcome. Helping young children like you is one of
my duties.

Gil: ..............Czomﬂzyﬁ...afﬂc.er...-.......
Officer: Goodbye Brenda!

14
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Appendix XII: Weak candidate’s work in English

54. One afternoon, a girl called Kawudha Brenda sought help from a traffic
police officer who was at the side of a busy road. What the traffic police
officer said is given below. Write, in the blank spaces provided, what
the girl said.

Girl: ... .s:rasz/....fof:r.o.o.Qn...Qf. G 3 S A
Officer: Good afternoon, girl.
Girl: .......... HJmJ.....fm.cyﬁm....&.J..gm..k.cmu.c.“qg..Brﬁm[n:...............

Officer: Oh! Nice name! I am Inspector Drici Bravo. So, how
can I help you, Brenda?

ke,
Girl: ngtl'me?nlhcrm'}hthJJmeﬁﬁﬂg

Officer: Oh, no! You don't have to fear vehicles if you want to cross

the road.
Girl: ... HO.8. G0 L 1085 0 0B oo
Officer: To cross the road more easily, you use a zebra crossing.
Girl: .......H@?.w...fp.o...ﬂe...Efeerx#se..Q.zelam..Cxc-aaazlj...log.k...L‘kc.-

Officer: A zebra crossing is a black and white path across the road
where vehicles must stop for people to walk across safely.

Officer: When you get to a zebra crossing, stop and look right,
left and right again before crossing.

Girl: .....I.E...;:..z..d.-l.c.‘-m.r.ff?l?_.']..ﬂjzibf...Z.f:bm...CﬁQJ.»t‘.@...}hET.u‘{i:u.si:t.c.r.

Officer: Yes, drivers will stop when they see you standing at the
zeEra crossing.

Girl: .....lhe .. ﬁ.l;?.‘{!....C..QCQH...Dﬁﬂrﬁ...’.‘:ﬁ:':‘.e.; ............................................

Officer: Yes, there is a zebra crossing near here. Let's go there so
that I may help you cross the road.

Girl: .......ﬂgnﬁ...g.@.t.f....czfﬁr.afr..:...._.......
Officer: You're welcome. Helping young children like you is one of
my duties.

Girl: g‘?&‘%f%?éﬂﬂf(}f‘fé‘%!f&{" .......................

Officer:  Goodbye Brenda!

14
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Uganda National Examinations Board
P.O. Box 7066, Kampala, Uganda

Telephone (Ntinda):
+256 414 286 635/6/7 / +256 414 286 173
(Kyambogo):
+256 312 260 753 / +256 414 289 399

Email:
uneb@uneb.ac.ug

Website:

www.uneb.ac.ug


http://www.uneb.ac.ug/
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